
p0 = P{det| tgt crosses DP/BB region}

p1 = P{det| tgt crosses 1st CZ twice}

p2 = P{det| tgt crosses 2nd CZ twice}

R0 R1 R2

R0 = radius of DP/BB region

Ri  = distance to i th CZ, i = 1,2

R0 R1 R2

l0

l1

l2

l2 = p2

l1 = 1 - (1-p1)(1-p2)

l0 = 1 - (1-p0)(1-p1)(1-p2)

W = 2[(l0 R0) + l1(R1-R0) + l2(R2-R1)]

Example values:

R0 =   1 nm

R1 = 35 nm

R2 = 70 nm

p0 = .85

p1=  .5

p2 = .25

l0 =  .9435

l1 =  .625 

l2 =  .25

W =  2(30.94) = 61.88 nm 

⇒

Calculating the Sweep Width of a CZ Sensor
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